Hall Ticket

No.

m e
M e s (A

Time :

—

2 Hrs.
Full Marks : 120

Note :

Before answering the

OMR sheet. questions, read carefully the instructions given on the

550 waraen
58y BP0 3006 OMR erarey Spsns? BEWED ATBHOD) EBT HES06.

SECTION—I : MATHEMATICS

‘a

140 ' .

210 52

140

210 08 a8

(1) terminating decimal
©oBB0ay S7eo%0

(2) non-terminating and repeating decimal -
080 57 H0Bain &5 dFoTo

(3) non-terminating and non-repeating decimal
@080 570 HoBofn eSddo 5P GEroTo

(4) None of the above

DD 5

The remainder when the square of any prime number greater than 3 is divided by
6 is :

3 508 D 3% g (50 Somg Bk, HGR) 6 B gefiowd Hdy) B

95 1885 | (2) 2

(3)7 3 (4) 4

SPACE FOR ROUGH WORK /908 R0
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Which of the following statements is not correct?

¢ 1808 PORTeS® 08 8L 5vs?

(1) The sum of a rational number and an irrational number is an irrational
a8 e55eah Soa)g 20B8ao & Kot Sogye 3o &l HEEAD Boay ©PBoos.

(2) The sum of two irrational numbers need not be an irrational number.

Bot ¥8ei0% Poa)se IBo & KSeIaH Ho) SPHHHY0 B

. . be
(3) The product of a non-zero rational number and an irrational num
irrational number.

(¥4 a-
2.8 RRGHS @¥SHah Sopy $0Bakho 2¥ K5HaH Hoag ego 8.8 S Do e’@é’z
; o i r.
(4) The product of two irrational numbers is always an irrational numbe

Boc K530 Songe oo JeRpET a8 Kdan Sogy @HBos.

numhfﬁr.

r is an

. The HCF of 306 and 657 is

306 H08ak 657 © K35
(1) 10 (2) 8
(3. 9 4) 7

. The value of logy 32 is

logy 32 GBw¥); dewd
(1)~ 2 (2) 32
(3) 5 (4) O

. If A={1,2,{3,4},5}, then which of the following is incorrect?

A=1{1,2,{3,4},5} @ond, 58l 770" IB IBAH 5°x51?

(1) {3,4teA (2) {38.4}}cA
3) {3,4jcA (4) None of these
oD 5%

. If A and B are the two sets containing 3 and 6 elements respectively, then what

can be the maximum number of elements in AUB?

Botks Sostoen A $516c B oo SESMT 3 $8ck 6 Suresess KOR DYQOB, AU B S° g0t ¢

Sarreste h’ﬁé} Pogy 20H?
(1) 9 (2) 10
(3) 11 (4) 12

SPACE FOR ROUGH WORK /20508 RO
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The number of subsets of the set A={p,q) i
={p,q) is

A=1P.G} &3 52088 Ko a5 PR 1
(2 2
(3 3

Oaja
(2) 4
(4) 0

9. i . L
Which of the following is a polynomial?
&9 (508 TUS® 08 2. eyguBan
(1) x%2-6Jx+2 S
Q) =
X°=-3x+1
2
(3) 5x°-3x+.2 (4) 2x2~E+3
: X
10. If d i
a ﬂﬂ_ P are the zeroes of the polynomial f(x)=6x2+x-2, then the sum of
zeroes is
s o
flx)=6x" + x -2 &3 aadus68 Mo #voegen o, P 0008 73 Ando dens
6 (2)/ TE
1 1
(3) 3 (4) 3
11. If the zeroes of the quadratic polynomial ax?+bx+c(c #0) are equal, then
ax? +bx+c(c#0) &d S8 TVIB B, Eren SSrTPs
(1) e and a have opposite signs (2) ¢ and a have same signs
c 0850 a e &BE IHEen ¢ 508050 a e &3 KHKKd L8R
59R Hoerraw Hoerow
(3) » bE Ao (4) None of these
0D %)
12. If o, B, 7 are the roots of 4x° —6x% +7x+3=0, then the value of af +fy+yx is
4% 652 + Tx+3 = 0 B}, ST o, B, Y €0 ©0B, af + By + o G0t dend
7 i
(1) e (2) 7
2 3
3 3 4y 3

SPACE FOR ROUGH WORK [ DSOS @S;sam

[P.T.0
/4—-—A [3]
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BRSNS

DU IS

= a uni
13. The pair of linear equations a;x+by+c; = 0 and apx+byy+co 0 has que

solution, then

ayx+by+c; =0 20800 ayx +boy +co =0 &R Bhohd Sosbere BB D3 Arisis 9O, wiiye

a b Citp ot
(s @ @ b o
G _bi_o aie

(3]; ag_bz—CQ (4) ag by

14. Nimra went to a bank to withdraw ¥2,000. She asked the cashier to give her ¥59
and ¥100 notes only and she got 30 notes in all. How many notes g

¥50 and ¥ 100 respectively that she received?

DE 2,000 Srarohen SRSTHERE & aroSH D08, &) SREHBH & Jweeds 50 Erandiy
2080 100 dramahe SPe S°E 295900 §°608. ko 30 Sy edd HRETIT, &0 G i
50 raraie Sy S0Ban 100 Errarahe Sy SEHST JR?

(1)¢ 20, 10 (21015 15
(3) 10, 20 (4) None of these
B S°Y)

15. If 2 is a root of the equation i px+g=0 and p2 = 4qg, then the other root is

e px+q =0 &3 SDoEBedE 2 a.¥ Sorrebnn Ho805) Jt::2 = 4g @008, 30578 [Joresn
(1) -2 (2) 2

(3)

B | =

. 16. The ratio of the sum and product of the roots of the

quadratic equatio’
7x*-12x+18=0 is

T ~12x+18 = 0 & 5 52882 G, Barvere DosBw 2B o
(1) 275 12 (2) 7:18
(3) 3:2 (4) 2:3

g;‘n}t} ‘%:%3@;

SPACE FOR ROUGH WORK /2to598 AR
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: B &8

If the area of a rectangle is 119 m>
then the breadth of the rectangle ig

¥ &3 BBOG(0 B, BTes5n 112 m

and its length is 6 m
m th.
Rre L3 he value of k is

2
08t @y O30, Dress), Doy) 08 6 m K,

aqg HBoYRHo BN, déke)
» 8m
(1) ?0 2] 14 m
m
(3) (4) 12m
18. Find the 10th term of the anthmetic progression 5, 1’_3, =T
5,1,-3,-7,.... ®% ®o¥ B& 505 10% S50
(1)Nga1 | »(2) =31
(3) 30 (4) -30
19. The sum of first 10 terms of the arithmetic progression 34, 32, 30, .... is
34, 32, 30, .... @ ®0o¥ BE [50& Ko s 10 Soe Ao
(1) 200 (2) 225
(3) 250 (4L 275
20. The 12th term of the geometric progression (G.P.) 2,1,%,%,%,... is
it L 10 BGS'D 12 5 S50
] ’214:8:--- L
1 1
(1) 3 (2) 58
s
() i (4) 1o
21. Which of the following is a geometric progression?
(o8 TRE* KoeEd D87
wr L2 @) 2412
2748
(3) 3,4,6,12,... ) %1,
SPACE FOR ROUGH WORK /9805508 e
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LT,

18.

19.

20.

21.

i s o iy 0

If the area of a rectangle is 112 m? and its length is 6 m mMOTC than e breadty,
then the breadth of the rectangle is

& 8 SBoYiSo BooY), PTrogin 112 m? 5080k G @k, Sk, DGO 5083 6 M D sosgy,
&g DBOB(RO B, D)

(1) ~8m (2) 14m

(3) 10m (4) 12m

Find the 10th term of the arithmetic progression 5, 1,-3,-7,....

5, 1,-3,~7,.... &0 ©0¥ B& $0%% 105 56550

(1) 31 +(2) =31

(3) 30 (4) -30

The sum of first 10 terms of the arithmetic progression 34, 32, 30, .... is
34, 32, 30, .... ¥ ©0¥ @& Do Ao e 10 Sore dodo

(1) 200 (2) 225
(3) 250 (4) 275

: I £
The 12th term of the geometric progression (G.P.) Z,I,E,Z,E,... is

2 1,%,%,%,... o6 BRSO 12 5 SED0

8 1
(1) o (2) 28
1 1
(3) ot~ (4)  5i0
Which of the following is a geometric progression?
(BoB TS Ko B?
BE] L i @) -2-4-12.
2: 4, P i
9
X0
(3) 38,4,6,12,.., (4) «x, :

208 Revm)
D08 0

e —

SPACE FOR ROUGH WORK /

- EP.T.O
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re is
22. The coordind® o m the figu

B00& FB070 BrEosS” $) B0t P G305, i,
AAOB a8 8 \AOB O G, Sareed Sore
sesof 37

Y
A(0, 2y)

P

X
I B(2x, 0)

(2)  (y,x)

Y x
(4) [E*EJ

a"'aj Botseso £ B PG V-0 J 05)a&° aqm::_goa?
R 1213
(#) ..

"’"."-;a:_.-t_rj_angle formed by the points (a,b), (b,c) and (c,a) is at the

TR

(2,3) are collinear, thep t

1) (2,3) esd DoEIHen ﬁaﬁcﬂ_p@é? k e
0

: (2), -
“l\ (4) 2

SPACE poR ROUGH WORK / DRSHE %Fﬁ:fm

hé valye of k ig

collegedunia:s
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26.

27.

28.

29.

If the slope of the line joining the poins (4,2) and (3,-k) is

—2, then the value of k is
(4,2) 208050 (3,-k) &3 Bosiges, €@3 DSB8 Tren

[1] ".'."8 (2) 4

SR (4) -4

—2 008, k dend

In the following figure, if DE || BC, then x-
s 808 5006° DE || BC eowd, x =

(1) A8 - A2) 7
3) V6 4 5

2
= 2 f ADEF=16cm”. If
AABC ~ ADEF, the area of AABC=9cm” and the area o

BC =2-1cm, then EF =

2 BC=2-1cm ®ond,
2 ADEF Pwogo» 16 cm™. B
rexal) 9 cm HS08a03w
AABC ~ ADEF , AABC 3795 .

EF =
5 ; (2) 42cm
4 = o e

=7
AD _3 _ 4 AC=56cm, then AE
In AABC, DE || Bc,_ﬁg_

: 3 4,8af AC =56cm @ AE=?
2% Bthmso ABC Hot, DE IBC: 5~ 5
(2)- S cm
il 4) 7cm P
(3) 21cm W

SPACE

I P.TO

7
/4-—A |

.
gcollegedunlaé
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26. If the slope of the line joining the points (4,2) and (3,—k) is -2, then the value of k is
(4,2) 208050 (3,-Kk) & Botpens 585 5588 e -2 ©ond, k eus |
(1) »8 - (2) 4
(3) 3 Y =4

ollowing figure, if DE | BC, then x -
* 808 3606° DE || BC wand, x =

f

2 BC=2-1cm sa0d,

> 9 cm? B8ak0 ADEF pwegn 16 cm
(2) 42cm
(4) 4lcm

_ 3 4ato AC =56cm o AE =7
£ Bthmo ABC 0, DE | BC']')E" 5

(2). 5cm

(4) 7 cm
WORK /8508 Ra

collegedunia



30. In

the given figure, PA ang PB

are the tangents to the circle with centre at g
ZAPB - 36°, then ZAOB = 4
A2V 90008, PA 58050 PB e OSoor o w08 S5i98pen. LAPE = 36° @oxd, <A0B+

A
B
(1) 72° (2) 134°
(3) _144° (4) 154°
31. The area of the shaded region in the given figure is

FO Se0S® HE SahmAs [S&%0 Bk, PRSI

(1) 4xn Sq. units
(3) 16 - 41 Sq. units

(2) 16
' (4 None of these

= 167 sq. units

ADD 5u5)

the radius of the

(1) ,.{\E.l.” (2) a2+
B V2

(4)  a(W2-1)
e RiEN

SPACE FOR ROUGH woRrk [ DEIBDY vy

. \

gcollegedunias
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3 i ﬂ4 :
8. If asm45°=bcose030°, then the value of Xl 1S

4
asin45° = hcosec 30° 00D, —;z AR08y, e
(1)e 1 | @ 2

39. If sin%@ +cosec?0 = 6, then sin® +cosech =

sin® @ +cosec?0 =6 e0d, sind + cosec =

(1) 342 (2) 2.2
(3) 42 @ V2

40. A tree is broken by wind, its upper part touches the ground at a point 10 metres
from the foot of the tree and makes an angle of 45° with the ground. Then what s
the entire height of the tree?

41. If two towers of heights h, and h, subtend angles of 30° and 60° respectively at the
midpoint of the line joining their feet, then the ratio of h, : h, is
) 3080 h, dsgen ¥A% Bocts Atgyomes e ST K9S B potso @, B0y Doy ool
Dok éﬂgé Semen S 30° S08af 60° ©od, o3 DB DA h] : h2 =
(1) 2:1 2 1:2

4) 1:3

42. Ifthe Probability of guessing the correct answer to a question is % and the probabilit

of not guessing the correct answer is 3’ then the value of X is

&5 55 $5BES o % 2
- =%y O3 5ArEEHo OB DAL Hey POHgE 1-2* 8afn eosge VaHedy D)0 NOFRST

Emnxamﬁ

() 4.5

3l 1 g 4
(3) 12 (4) 05

SPACE FOR ROUGH w IRK /980508 dudiany
i op

/ A Qcollegedunias
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24 wosven o wl PS® x d83),
208D &3

2x Beug) Ho8aty 3x doo Yol eotuen S0, @oté&® Bood 2.4
R, & 00 I oD SDE wKr80%) Ke RNOgTH5E

i
6
4.
3

(1) 2

(3)

(4)

Two dice are thrown at the same time. What is the probability that the sum of the
two numbers appearing on the top of the dice is more than 10?

B0C DR 288 JIHEDTE. T3 Soogrep ) Sosse 2B 10 Ko K eKHLED fo Sogrigs
20B?

2 1
B 1
3) %6 | @) ==

issing from a pack of 52 cards. A card
hearts and 4 cards of spades are missing IrcC % .
icg;i:: f&l.t random from the remaining pack. What is the probability of getting a
1 . 0

black card?

5
3 o) 508050 4 sPHen f\gﬁw 8. RIS 28 54
52 ¥ ;ﬁ.ngben e a8 5&356 m:,éﬁoSJ‘s*d it Ko 2 s“daq

2006 28 5P dﬁ“q)aogom Sasore @8 Hevd) B0 SR 92605 e Hogrdy®
e
22
ppoee @) o2
(1) = %
@ = ) =g
52
08, 115 is

i 3 102, ]

3 20, 65, 102, 108, 115 o%° G0ty Bife
B5gpéd 10, 20, 02 rdi
7 (4) 40
M&aﬁ —TWORK /QBQB08 00

GRDICE

:
Qcollegedumas
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47. 1f 35 is removed from the data 30, 34, 35, 36, 37, 38, 39, 40, then the medi,
increases by :
30, 34, 35, 36, 37, 38, 39, 40, Se080S’ 35 10 E'oR0dH0NB, TR J0ED Jess? D6 rege
(1) 2 12} 15
(3) 1 (4) 05
48. The modal class of the following frequency distribution is
S |308 worPHs Jeresn A erTVSES) BEXG
Class Interval 0-20 20-40 | 40-60 | 60-80 80-100
BENSE o8ilo
Number of Students 15 18 21 29 17
:)c:*;st%e ?—50&1&
(1) 80-100 (2) 0-20
(3) 60-80 (4) 40-60
49.

If the modq and mean of a data

are 24 and 60 respectively,
data is

then the median of the

(2)
(4)

48
46

it of the median class of the following frequency distribution is
TEBOS’, B0esg/e BENS 0D i)

S0-70 | 70-90 [ 90-110[110-130|130-150 |150-170
15 21 32 19 8 5
(2) 90
(4) 70
SPACE FOR ROUGH WORK /9508 QR0
=
/ ﬂ g collegedunias

I 1m1
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SECTION—IJ : PHYSICS

51. The C.G.S. unit of heat energy is
S3888 C.G.8. Sdrmo

kelvin
&S £V
(3) dioptre (4) calorie
a8 35°
52. If 27 °C + x = 300 K, then the value of x is
27 °C + x = 300 K @0nd x e
(1) » 0K (2) 327K
(3) 273K (4) 300K

53. The pair of substances which have the same value of specific heat is

23 D3P0 e SRS =ow FEYE Tven

(1) copper, aluminium (2) zinc, iron
5056, @arguddho 2208, 308w

(3) ice, kerosene oil (4) water, ice
L0030, 86%0 P&, S0

54. During the process of conversion from liquid to solid, the internal energy of the
water

(G50 B0d 0 Sorgorr S8 (S80S’ Hed eothd B8

(1) increases (2) decreases

285K08008 BifE0d

(3) remains constant (4) <None of these

&ejonv &062008 oD 5°)

SPACE FOR ROUGH WORK / 3@39333)% %ﬂéﬁm

, [P.T.O
Qcollegeduniag



S5. Formation of dew and fog is due to the proc

ess of
O BB FN5008 D516 Seasion wons (58>
(1) melting (2) freezing
|$5DEsSH0 DgSHo
(3)  evaporation (4) condensation
2RSS0 FoRE8e0

56. 40 g of water at 40 °C is added to 10 g of water at 80 °C. The final temperature of
the 1 . i

15

D30 80 °C ey SORS 10 rre. He32 EODmcso, D) 2090 G, @8
=g (2) 40 °C
5 . (4) e4°C

y from normal when it travels from

(2) water to air
e oo e
(4) air to glass

) 5008 reert

Qcollegedunias
v Ol | India’s largest Student Review Platform
/ ‘_.A
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59. The speed of light in

vacuum is o, _ _ .
index 4/3 is The speed of light in a medium of refractive

BIPR0S* s20d DKo ¢ wond 4/3 e 5184159 KomEo EIRD aIridEods® seod DKo

B e/s @) /4
(3) 4¢/3- (4) 3c/4

P

60. The stars appear twinkling. The principle involved in it is
PEE"RL oI ESScEEP00. ADE 880 @S Stod A5

(1) refraction (2) reflection
S18e5550 lopnTerlel

(3) total internal reflection (4) dispersion
RO groBs So58H0 98 5e0

61. A rectangular tank of depth 4 m is full of water of refractive index 4/3. When
viewed from the top, the bottom of the tank is seen at a depth of

4 m &% SRS 28 §Y SBERFSED &G 4/3 5800 devs LIRS DS Do &08. P gD Bod
BRI EF e griHn 52d0B) S

(1) 8m (2) 2m

(3) 1-33m (4) 1m

62. A convex lens gives a virtual image when the object is placed on the principal axis
0¥ BrogrseS K50 TR (SFTE0R JR0 S SRIHR E0DTYE TS HEDOWO D&)B08?

(1) at infinity
b0t B80S

(2) at centre of curvature

3
i

5|8 So|lo DG

(3) between focal point and optic centre

ed)0so DOV Ho80500 fﬁn)g'goLdﬁo D655

(4) between focal point and centre of curvature

ﬁvaﬁoﬁa-ﬂom@ %5800 H|Eae Solto D e

SPACE FOR ROUGH WORK mégémg aq;::):m

[ P.T

H [15]
/ gcollegedunias
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63. Irrespective of t

i 1ature
always forms an image of na

SREpE o (2) real, erect
(1) real, inve
o, $080KOIT 3, DYDY
: . (4 i
3 }irtuaL erect | (4)  Does not form any image
/m - HBDowo IS

64, The lens which is bounded by one-curved surface is
o S0 SR &%) S0
( bié‘envex (2) biconcave

(1) bic

Be)eorsey

(2) 25cm
(4) 125 cm

iial rays and principal axis is
. RTS8 DG dioc.f}a §%0

(2) 45°

(4) 83°

into VIBGYOR colours is called

OR Gorbenrr adae) 58as
(2) dispersion
_ DESe0
. '- TI?Eﬂectjpn (4) refraction
F o ; .u----.,
oS o 8

(4) concavo-convex

- HUrSE-S0erses

) (S8BonST o SR &%) L0875 Seako By, 50000

he position of the object on the principal axis, a concave lens

k004009 908" Sow0(o BRIOG, &8 Yersei K50 Josiyiir ey (58Bow B5mo

= @b_pect and image distances due to convex lens, then its focal

SPAC
CEFOR ROUGH woRk [ DESHE duisiiny

g collegedunia:
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68.

69.

70.

1.

72.

The light which has the maximum ap

NBQ DD §%0 ¥ORD 5208 Soi)
(1) red

gle of deviation is

(2) yellow
AR A
= (4) green
&8
i 85)5‘&')‘)
OBt}ue colour of the sky is due to the Scattering of light by the atmospheric molecules

E5°50 D SoHS® ESSEH Sea0, (808 BIGES Q) TEHEe SEITEDOD 508 56855590 Dot

(1) H20 ' . @) COz
(3) H, . (4) NyandO,
N, 30850 O,

The power of a lens of focal length 20 cm is

20 cm Trgrgodso SORD Seos Rngso

(1) SD (2) 02D

@) + 1D (4) 2D
—

In hypermetropia defect, the image is formed
85 )9 5°50S° g D00 FH

(1) beyond the retina (2) before the retina
B &0 T 36 000>
(3) on the retina (4) Does not form an image

aegan?_;() 8D0WO0 JEE

For a normal human-eye, 25 cm is the distance between

s SRDG 038, 2:5 cm D& Sy o850

(2) eye-lens and retina

_lens and cornea
[1) - I ¥oed EeoseR8 SoBaiv Bedoed D065
Koed Eea5eR8 HoBos» 5°8)057° 50655

i ject
(3) tina and cornea (4) retina and objec
retin

: ; B S08a%0 DY) Doey
B %5805 5°6)057” Slaly

WORK "_"'—"“5‘.“131.'11;
FOR ROUGH WORK /280505 g

SPACLL
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73. In old age, the value of least distance of distinct vision shifts to

TH50S” PR EVHETE0 Dews B R0

(1) larger value (2) smaller value
D8 DewD POV BHE) 2 DOV PaHE)

(3) Does not change (4) None of these
oD DIEEE Fad) 5°)

74. Electric power is the product of current and

DS A0 BRIB sSSP BBk ® ogo.

(I) resistance (2) charge
08¢0 TRET

(3) velocity (4) potential difference
o 23RS B

75. Three resistors each of 4 Q, 0-4 Q and 0:04 Q are connected in series combination.
Their equivalent resistance is

4 Q, 04 Q Bt 0-04 Q Devden SRS B~ A FrOR @3 oo DI, T+ OB 96%30
(1) 48Q (2) 444 Q
(3) 49 : (4) 044 Q
76. Pick the correct answer from the following two statements -
(508 Boch T7575e M0d HBALH FITGEH0 JoRE oS
(a) Ohm’s law is applicable to semiconductors,
SETITSE) £ AADHIR) Fe3=000.

(b) Ohm’s law is applicable to metallic conductors.
ST TS L5 DOHATE) Jeden,

(1) Only (a)is true . (2) Only (b) is true
(a) S3°55 deso (b) S8 deso
(3) Both (a) and (b) are true .(4] Both (a) and (b) are false

(a) 38052 (b)Bodse e (@) 508050 (b) Bocsre wipd

SPACE FOR ROUGH WORK /2598 aes41
A [14]
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77. 6 watt x secong -
6 TR x MR =
(1) 6 volt
6 5°¢ (2) 6 ohm
(3) 6 joule 6 8.5
6 TS (4) 6 coulomb

78. The I'EIH,tionshi a
P between current and voltage is established by the scientist

RS (Hed
50 (D°5508 508050y 5‘§£§ & Ko POOLRRY reri) B TINO

e (2) Oersted
S sobHE

(3) Kirchhoff Al
Sov),a e

79. The electrical energy (in kWh) consumed in operating a bulb of 40 W for 5 hours a
day in a month of 30 days is

40 W 250850 SORS 2.8 2058 ey 5%rtd 5 Hotew HRATAY, 30 Eeren o J0S° dAGIo waly

S)ﬁaées- %8 (86° Ty Hotwes®)
(1) 12 (2) 6
3) 3 (4) 15

80. Which of the following is not a measuring function of a multimeter?

20985006 050 F'OE 08
(1) Charge (2) Current
D (S0
g (4) Resistance
(3) Voltage g

g2

[/ DBINE S
o 4!

FOR ROUGIH [ WORK

SPACE

(19]

.-’AA
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81.

83.

If R is the resistance of a conductor of length [, then
[ ) Ko TirEo @), 06°0 R @ond

(1) R« % (2) Rel
(B) R« (4) R is independent of [

1 R esgr8ciso

Two currents 3 mA and 5 mA are flowing towards the junction in a circuit ap,
three currents 1 mA, 1:5 mA and x are flowing away. The value of x (in mA) is

3 mA $:80 5 mA &% Bt DS [Fie 2. D856 H0aHOS™D 50§ PHIH HBaty 1 mA
1:5 mA 0801 x &0 $08 od Errorr |SHirR X devd (mA oS°)

(1) 8 (2) 105
b

(2) 1 weber/metre
1 308/%6

(4) 1 watt/metre?
| 1 Trey /206062
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85.

86.

87.

If A® and At are
induced EMF jg

AD 208050 At & ergfye
LOB 95z
i P Sty 8 om0 wsigrme ©o0B (168 555 STy
AD
A e | T
| (2)
At
(3) A®.ar @
| AD

A freely sus i
y pended needle of a magnetic compass comes to rest along the geographic

OO, 08 8595088 5082 foasif)an‘ G0DIHED, 8 #rd ABs), b?éae‘%@é 980y Bgev

(1) north-east direction (2) east-west direction
a85-8°dy) B%en BIPEY)-SE08 e

(3) south-east direction (4) north-south direction
&8ea-B°8y) Bfed &B5-58e Ben

An increase in magnetic flux through a coil of 100 turns in 0'1 s is 0001 Wb. The
maximum induced EMF generated in the coil is

100 ot SORD @Hﬁﬁ)géﬁ 01 s & Seuit ©0HR,08 VT VNG 0:001 Wh eond S8k B

(288 DEETHOE OB IS

(1)°"1V (2) 10V
(3) 01V (4) 100V
SPACE FOR ROUGH WORK /983508 26920 ———
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88. The magnetic force acting on a moving charge in a magnetic field is the prodyy
three quantities namely ‘
00,08 §BoS® Sxhendud) edion SVVAL) @A) o8 weo B08 Kt Tre 025

(1) charge, speed, electromotive force
%0, S, acﬂ)égzxgeag 2B
(2) charge, magnetic flux, magnetic flux density
©3%0, ©aHI),00 WPTITO, @010, 08 T o
(3) charge, speed, magnetic flux density
esdd0, HE, WY 08 e 0 |(L5%h
(4) charge, speed, current
esS%0, 58, 25058 [adro

89. An auto driver started an auto rickshaw with the help of pulling a rope. The devic
used by him to convert mechanical energy into electrical energy is

2. eeS*L@a’JE €365 0570 B eritio BtaHos’ LB BT, BotHS® afrrod B8, DEYH FE Sm8ye0k

TED ;S0

(1) multimeter (2) transformer
&')Jgfl)ms L&PSJ@%&S

(3) dynamo (4) _voltmeter
AT S'S oewb

90. Faraday’s laws of electromagnetic induction is a consequence of
O DEm,08 (Ber BrvlEren @560 DAHiso
(1) éconservatioq of mass
555078 Do
(2) conservation of linear momentum
Bt (¢55530 Difsthoo
(3) conservation of angular momentum
o (SO Do
(4) conservation of energy
%_?; eSO

SPACE FOR ROUGH WORK [ DBOSDE Ruidiany
o o
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91.

92.

93.

94,

Which one of the followin

: g can b
1c natur i Faus i
bas e of solution? ed as acid-bage indicator to detect

(FFO£R0 B0 20 T oerosy Besk, S
(1) Turmeric solution

CHEMISTRY

acidic or

B0t Bensaas 4 RIPDESD TEoEE)?

S0 [T5e20 (2) Litmus
| 2 N (2) (4) izjfe of these
(1) 080w (2)
29D 5%
If pH of rain water is less than —, then it is called acid rain.
389 063 pH de0d %08 w51 GRVED, TR sy HFo oL,
() e * (2) 76
B3N 6:6. (4) 86
Tooth enamel is made up of
BoBHo BE),; TS & 1Y &oenod.
(1) calcium sulphate (2) calcium chloride
s2@ao SBye5 s*dato §BE
(3) calcium phosphate (4) magnesium sulphate
2900 272 ofhdano 5By
What do you observe on pouring potassium hydroxide on r:ed and bl[ue jitmus papers?
SerS0 PEDE (E79Ea0%) Do) HoBatd D T?Jw o s°RBo ;333::6@:3, H0% 2 AALTRY B2
(1) Red litmus remains red and blue h:mui m:d:; re
0o Deag BT GOER, S0 A é”ﬁ’éﬂl" f:i’“remams "
2) Red litmus rurns to blue and blue li
( i o0, 50 DO Buyh boorrd G0
e r%)elj:soc:::c:urrles colorless and blue litmus remains blue
(3) Red litmus

€ w4 BoPB0 €920,
DB Oep I
R ¢ to blue an

Red litmus turns i
4 y050r) 4300800 o

(4)
o')d)@ @@éfj :D@Qn"

H& Do HEDIT DIPOR

59 HO ejméﬁ) HEOMTR) 606N

d blue litmus turns to red

- _.._' 0_, — I-'
W[ ”\Ii\ /t.‘l"ﬂ.lu'h\)‘o .ﬂ:.h.-l\\

:
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95. The maximum number of electrons in M shell is
M 88 5065° &0t "B dogroe Soag
(1) 2
(3) 18 (4)

(2) 12
24

96. Which of the following orbitals does not exist?
1808 T°0® H &983:,'2.)“5 IRV SO0 7?

(1) 2p° (2) 3s'
(3) 4r2 ' (4) 2d°
97. Niels Bohr received Nobel Prize in

DSy 5B TR0S® FaneS 5HBRm),80 dromEd?

(1) Chemistry (2) Physics
S50 gFEE

(3) Biochemistry (4) Biophysics
500D DT DE

98. The number of degenerate orbitals present in 4d subshell is

4d e38yerSS” o8 38 Ko &S558 070 Roy

(1) 8 (2) 10
(8) 5 () 4
99. Presence of 3 unpaired electrons in nitrogen ca;n be explained by _ principk.
DSBOS’ 3 BE,ED Jo TR oEER) D5B0D dAHSoB0
(1) Aufbau (2) Pauli
@9e3° DADLIVHW &9 DAHBOZ
(3) Hund (4) Bohr
Tro& DoHHBL 56 DoDHBBH
100. Strong ionic bond is formed between __ _and group elements.
| OB aIPRE oo S D) Sureste D055 DY
(1) 1A andIlA (2) ITA and VIII A
(3) IA and VIIA (4) IA and viira

SPACE FOR ROUGH WORK /DB Juiddny
e 53]

/4—A [24 )
gcollegedunias



103.

104.

105.

»8) co T
1%, 257, 2p°, 352 3,6 nfiguration js related to
X ' OP 2,8,8) oy,
(1) P —— 9 SowoGonis.
3) S2 (2 crt

(4) ALl of these
R0k
—— are Dobereiner’s triads,

é e
a0, REGAHO 8oy &30 Ewbb |@ssen,

(1) S

(8) Cl i: f{a

IV A group elements are called |

IV A group Suresred) 250 deodstd?

(1) carbon family (2) chalcogen family
S Leowo TS, mS Hewowo

(8) nitrogen family (4) boron family
Do Hreowo 500 Kr60020

An element X’ belongs to 2nd group and 3rd period. What is its valency?

3 % 3B0HEDH Dodd K @ Barre¥o G, DR
2) 2
(4) 4

2 % (K So8a5
(1) 1
(3) 3

Valance Bond Theory was proposed by

08
Do) WOE 2:%‘0&:1.13;&3 B0 1
) Lewis (2) Kosse
(1 e )
©I°00R E:ah
(4) Bohr
(3) Pauling e
2r&of |
SPACE FOR ROUGH WORK / mig;’)m?. %“D:n)
(P.T.O
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106. Identify the correct statement.
N8 @008 DeSAr0e54) OBodod
(1) By losing electron chlorine becomes cation
JOHI §'EYStk0 g §65 STeasirRome HrEs
" (2) By losing electron chlorine becomes anion
QOFOD S 35¢0 TH0° 65 esdoirsom Srdm
(3) By gaining electron chlorine becomes cation

JOTOR Drotseio argpe §85 Srea0srom Sk
(4) By gaining electron chlorine becomes anion
VOFSR Frotstio argee §65 &0 B

107. An element 13}{27 forms ionic compound. What is the charge on X’in ionic Compoung;
. 3}(27 &R Sureo e90f oDy ;’Javtg:)d 5908, ©asSt &g ;’Jm‘goeﬁﬁ X Qoreo QE); 9380 (charg

JO& ? :
(1) +1 (2) +2
(3) +3 (4) +4

108. Linus Pauling proposed the concept of
B0 29of (5@B09:5 5% 87

(1) ionic bond (2) hydrogen bond
©OIRE e0o TE=S woso

(3) hybridization (4) covalant bond
P0¥B858e0 DO@Iradas) 20450

109. Electronic configuration of 02 ion is
072 sy B0Y); oS dargSan
(1) 152 252, 2pt (2) 132, 232, 2p5
(3) 152 242 9,6 4 18 262 5,3
110. The Number of electrons gained by non-met
25 0" Sarexo D08 DO S0 NOs TR S,

(1) valency (2) 8T0Up numbher

’ S0 A) gbpn)) n’JOaJé‘_

(3)  bond angle (4) All of these
moc;‘.’s &"’mu a1y

SPACE FOR ROUGH WORK /Dy5na A9
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e e -
-
-

208 wmsve;@‘ Sairfes D8R sy = el wnlics
(1) K, Na, Ca ik
(3) Ca, Na, K (2) k, Ca, Na
112. Poling process is used to o e
2oh & 1580k = e
(1) concentrate the ore r
2 M (2) reduce the ore
(3) heat the ore with O amaa. —
2 (4) purify the crude metal
808 5% 3E Sohes &g
113. Corrosion of silver results in the formation of
D08 ¥ohan FoBsE Sy,
(1) silver chloride (2) pure silver
Dexb %E, S5 ok
(3) silver nitrate (4) silver sulphide
206 DES ~egb $8y8

114. During corrosion, a metal will
Shimin EoNBn S0BIHE, & S'FHN

[1)" ‘be oxidised - (2) lose electrons
es&y58e00 DO DOFROD SRS
(3) be reduced (4) (1) and (2)
(1) 508050 (2)

E05H¥E8e90 DO

i 1 will result in the formation of
115. Replacing one hydrogen from NH, by alkyl group

3).& () T NH, %508 24 P& an) &oRodd ) Dy,
eﬂn_b- »
ketor
(1) aldehyde (2) . :; gne
3} &gi:]fli [4} ester
( a )
IO , IR0
5 ACE FOR ROUGH WORK /980508 2050

[P.T.O
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116. What is the structural formula of simplest ketone?
508 TS wd et (simplest) &5°5 DE?

(1) CH,—O0—cCH, (2) CH,— NH,
i i
|
(3) CH3; —C—CH, (4) CHy —C—OH

117. Ethene and ethyne differ in the
BB 208c 3PS 9BHoD women

(1) number of carbons (2) number of bonds 1
S )00 S0z WO Sosly I

[_3} number of hydrogens (4) (2) and (3) l
pEase Sowy (2) So8dtw (3)

118. Identify the dimethyl ether.
GAPS H358 % HBovod
e
(1) CH, —y:— CH, (2) CH,—O—CH,
0 o}
[l Il
(3) CH; —C— OCH; (4] eH. — c—OH
. Saturated hydrocarbons contain

SotyS p|ESEyeen EOR &odoRo.

(1) at least one double bond (2) at least one triple bond
EDJ0 2 Bemogio Ed50 2.8 |@woio

(3) all single bonds (4) at least one ionic bond

 ed) ¥ oghney 5330 ¥ 0o woo
120. Aliphatic hydrocarbons are
 esdee3E PE G5 @D

(1) closed chain hydrocarbons (2) acyclic hydrocarbons

BoB)S FoRe 17E s Sen 0By &l Sen
. (3) open chain hydrocarbons (4) (2) and (3)
- | DB Fyowe pE'seEySen (2) S0Batn (3)
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